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Note : 
(i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 

Explain integrated learning approach. Discuss 
the implications of the integrated learning 
approach at the primary school level. 

OR 

What do you understand by 'small group 
learning' ? Discuss strategies used for 'small 
group learning'. 
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2. Answer the following question in about 
600 words : 

What do you mean by individualisation of 
education ? Discuss the strategies that you 
would adopt for individualisation. 

4 

OR 

VVhat do you mean by 'Webbed Model' ? Prepare 
a Webbed Model on the topic Transportation'. 

3. Answer any four of the following questions in 
about 150 words each : 

(a) Describe general characteristics of multiple 
intelligences propagated by Gardner. 

(b) Discuss the factors which • facilitate 
integrated learning. 

(c) How will you teach a large group of children 
for integrated learning ? Discuss. 

(d) How will you plan 'team teaching' for 
integration ? 

(e) How will. you organise integrated learning 
experiences in your classroom ? Discuss. 

(f) Describe the importance of 'quizzes' for 
testing students' understanding about a 
concept. 

4. Answer the following 
600 words : 

Discuss criteria for sel ection of appropriate 
method(s) for integrat ing curriculum at 
individual level. 

question in about 
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